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a— R KELEWEAICN—ITT SINEE 124
lap ' F 4 & +,/—  Total out in 1R 5 &
1 T =R e AZ— XK +1 73 36 37 73
2 ARH AR EEE—Y AR +4 76 38 38 76
3 BIAR $K— RAER +5 77 38 39 77
4 fRmE Rk JER Y L — +5 77 37 40 77
5 Ak —HB KRR +7 79 40 39 79
6 b5 EH Rl +7 79 42 37 79
7 N S W= L +7 79 37 42 79
8 Ml A R =R +8 80 39 41 80
9 AR JFE Fx=)—F+ +8 80 38 42 80
10 BB BRE  <Ebiird +8 80 41 39 80
11 53 1 Tr=w A +8 80 42 38 80
12 BA 5+ TY—=2 G R —] +8 80 39 41 80
13 #Hk EHZ Eig/ =2 +9 81 39 42 81
14 JEA B Kl +9 81 40 41 8l
15 B - 5E eI +9 81 40 41 81
16 s e INLES +9 81 41 40 8l
17 Rl RB JE B3 +10 82 41 41 82
18 M & eI +10 82 39 43 82
19 ZE BER USRS +11 83 41 42 83
20 AE FT IY—=r TRy —k 411 83 41 42 83
21 HE HEL FR LN +11 83 40 43 83
22 F b A NI +11 83 41 42 83
23 AR Cil= S 0% +11 83 40 43 83
24 AH HE R =R +11 83 41 42 83
25 HF Hr— Koy +11 83 39 44 83
26 tEky Ff T —/LR +11 83 42 41 83
27 TR #HE 5 +12 84 43 41 84
28 PHU BETAR AR +12 84 42 42 84
29 ik 5% V=TGR =k + 12 84 44 40 84
30 G B N +12 84 41 43 84
3L fB'E FA F— AFH +12 84 41 43 84
32 Hepk ER RAFR +13 85 44 41 85
33 IIF ok <ELEBEE +13 85 42 43 85
34 Wk 1k <Eb&Hr +13 85 42 43 85
35 AtG W <ELEBEE +13 85 42 43 85
36 At EHE e ] ] +14 86 45 41 86
37 iR KHE + 14 86 44 42 86
38 MHE MR FH 2RI +14 86 41 45 86
39 EE FHF i +14 86 43 43 86
40 B 2 HOEDLERIRIK +14 86 43 43 86
41 X% FHF o—Ll /L HH + 14 86 41 45 86
42 NH 3% ALK +15 87 46 41 87
43 VEIRK #EH 2 H +15 87 44 43 87
44 Aok WRH P = e i +15 87 42 45 87
45 L0 A AR +15 87 46 41 87
46 1IN =& B +15 87 43 44 87
47 BF EHEE B + 16 88 44 44 88
48 fEH ST HoEHL—7 +16 88 42 46 88
49 fm EFR Y S — + 16 88 43 45 88
50 HX fHAE <EhEFR + 16 88 43 45 88
51 BUE WA A AR +17 89 47 42 89
52 1HEF B INLES +18 90 45 45 90
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WA E T A4 Bt & +,/—  Total out in 1R i =
53 =& Kk K& +19 91 45 46 91

54 Rk = B8 KAy + 20 92 51 41 92

55 AAKH HifE  ReARITDL +21 93 46 47 93

56 )1 AELE  FgHhE R +21 93 47 46 93

57 e Fllsh NES +21 93 44 49 93

58 B B BAR +22 94 48 46 94

59 ik SUE whAEF2)— +22 94 44 50 94

60 K%z Tl = G i +23 95 47 48 95

61 ff=E it R[S0 72 A +24 96 46 50 96

62 [LifE FH(E JANAN +24 96 48 48 96

63 WA JEF] g% L — +28 100 47 53 100

64 /NI #EEE HH +28 100 45 55 100
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